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Chapter 22 The Solubility Product Expression

Select the expression or number that completes each statement and write its letter in the space at
the right.

1

CHEMISTRY
The Studyv of Matter

The mass action expression for the reaction Al(OH)s(s) =—= Al**(aq)+30H (aq) is
(A) [AI3*] X [OHT]3 (B) [AI**] x [OH™]

[AI3*] X [OH7]® [A(OH);]

© —Arom,] D AT x oH

. The solubility product constant for Mg(OH), is equal to (A) [Mg®"] X [OH]

[Mg>*] x [OH™]? D [Mg(OH),]

B) [Mg?* OH™)? Cc :
e d © " gOH,) [Mg*] x [OH"F

. Among the following the substance that is the most soluble is (A) FeS: K;, = 4 X 107*°

(B) Cul; Ksp, = 1.1 X 1072 (C) Agl; Ky, = 8.5 X 1077 (D) BaCOj3; K, = 2.0 X 107°.
P P P

The solubility product of AgBr at 25°C is 5.0 X 1072, In a given solution the concentration of
Br~ is 0.050 M. The maximum concentration of Ag™ that can be present at 25°C is
(A)1.0x10""*M (B)1.0x10"** M (C)0.05 M (D) 0.25 X 107 ** M.

. At 25°C the solubility product of CaSO, is 2.4 x 1073. The solubility of CaSO, at this

temperature is (A) 24 X 107° M (B)49x107°*M (C)24x10°*M (D) 4.0x 107 M.

The solubility of PbCl, at 25°C is 1.6 X 10™2 M. At the same temperature, the solubility product

of PhEL s (A) 2.0X 10°* (By16X 10> (€4.0%x10°° (D16X10".

At 25°C, the value of K;p for SrCO; is 1.6 X 107°. The molar concentration of a saturated solution

of SYC0, is- (A} 4010 2. B)16X10° (40X 10°° @16 x10".

. If the solubility product constant for CaSO, is 2.4 X 107° at 25°C, then precipitation at 25°C will

occur in a solution made by mixing 1.0 L of a 1.0 X 1072 M solution of CaCl, with 1.0 L of a
solution of Na,SO, that has a concentration of (A) 9.6 X 107> M (B) 9.6 X 10™* M
(€)9.6x107*M (D) 9.6 x 1072 M.
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~ Chapter 22 The Solubility Product Expression

Select the expression or number that completes each statement and write its letter in the space at
the right.
1. The mass action expression for the reaction Ag,SO4(s) === 2Ag(aq)+S0,*"(aq) is
(A) [Ag¥]* x [SO4*7] (B) [Ag™] x [SO4*7]
[Ag™]* X [SO4*7] [Ag2S04]

: Sy
[Ag2504] D) Tag™F x (50,5

©

2. The solubility product constant for Fe(OH); is equal to
(A) [Fe**] x [OH™]® (B) [Fe**] x [OH™]
[Fe3*] x [OH™}? [Fe(OH);]

[Fe(OH)] D) TFe T x [OH T s

©

3. Among the following, the least soluble substance is (A) BaSO4; K;p = 1.5 X 107°
(B) CdS; Ksp = 1.0 X 10728 (C) PbCrO4; Ksp = 2 X 107 (D) AgCl; Kp = 1.7 X 1077°. 2

4. The solubility product of FeS at 25°C is 4 X 107, In a given solution, the concentration of Fe?*
is 0.02 M. The maximum concentration of S?~ that can be present at 25°C is (A) 1 X 107" M

B)2x10"**M (C)0.02M (D)2x107* M. . e
5. The solubility product of PbCl, is 1.6 x 10~° at 25°C. The solubility of PbCl, at this temperature
~ is (A)4.0x10"°M (B)1.6x10"2M (C)40x10"2M (D) 1.6 X 10™* M. ¥ o
6. The solubility of PbCrQO, at 25°C is 2.0 x 1078 M. At the same temperature, the solubility
product of PbCrO, is (A) 2.0 X 107*® (B) 4.0 X 1072 (C) 4.0 X 107'® (D) 2.0 X 107°. 6 -

7. The value of K, for CdS at 25°C is 1.0 X 107?%. The molar concentration of a saturated solution
of CdS at 25°Cis (A) 1.0 x 1077 (B) 1.0 X 107 (C) 1.0 X 107%* (D) 1.0 X 10~ %2, yigia o

8. If the solubility product constant for BaCOj is 2.0 X 10~° at 25°C, then precipitation at 25°C will
occur in a solution made by mixing 1.0 L of a 1.00 X 1072 molar solution of Na,CO; with 1.0 L
of a solution of BaCl, that has a concentration of
(A) 0.50 X 10~ M
(B) 2.0 X 107 M
(C) 4.0 X 107 M

(D) 8.0 X107 M g
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